PAINT BY LETTERS

Arthur: That's what happens when you believe everything you see in a puzzle. Paradox.

J{G|M|IN[T|M|S|V|I|I|T|K|S|S|T|U[L{H|U|A[H|N|V
G|F|IK|J|G|E|B|Q|J|M|A|C|L|Q|A|G|C|X|S|W|D|C|V
N{F|Q|S|R|Q|E|Q|D|E|B|E|F|0|0|K|K[{Q|D|Z|0|Q]|Y
PIW/O[H|BJA|E|R|O|T|Z|I|Y|B|C/H/M|N|X|Y|I|V|I
WIP[F|P|Z|R|F|T|Y|U|T|P|Y|D|L|U|U|I|P{V|{Q|D|Q

A. This puzzle has a unique solution; there are no ambiguities or paradoxes.
B. At least one letter in COTILLARD is false.

C. All letters in PAGE are true.

D. All letters in GORDON-LEVITT are false.

E. There are more true statements than false statements.

F. B is false.

G. The number of false statements is even.

H. There are four consecutive false statements in this puzzle.

I. S is false.

J. T is true and F is false.

K. Neither D nor V is true.

L. There are exactly as many false statements in this puzzle as there are on a statue in Harvard Yard.
M. A and Z are both true.

N. This statement has the same truth value as statement C.

O. The number of true statements is prime.

P. The number of true statements is square.

Q. There are exactly as many false statements above this statement as there are below this statement.
R. K is true.

S. M is false.

T. J is true.

U. There are four consecutive true statements in this puzzle.

V. This statement has the same truth value as statement Q.

W. At most one of H and U is true.

X. Exactly one letter in PIAF is false.

Y. All letters in NOLAN are true.

Z. When you paint the grid, it will reveal the answer word.

BLATANTLY ACQUIRED: FISCHER'S FINAL LEGACY FISCHER'S HUNT



